VECTOR ALGEBRA
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= —4i +2ak

‘szj‘ =16 +4a’ = /l6+4x% =5

|| =9 and (xd +yb)-(6yd—18xb) =0

= 6xyfal’ ~18x* (a-b)+6y* (a-b)~18xy[p[ =0
= 6 ([al’ ~3[b[ )+(a-5)(»* ~3x*) =0

This should hold Vx,y € Rx R

~|al* =3[p[ and (@-5)=0

Now [axb[ =|af [p| ~(a-b)
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For angle to be acute
i-v>0

= a(log, b)’ ~12+6a(log, b) > 0

vh>1 m
Let log,b=t=1¢t>0 as b> (0
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=a-é=lab=-1
:>(3l+] (l+2j+k):—/1
=>A1=-5
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—90+272

|a”l§“c|:14

5A5=5A5=5Aa:9=%§

So, d@ E:—lab,Ef:—lbc GE=—Lac
2 2 2

Similarly

(EXE)-(Exﬁ) =%abc2

(Exﬁ)-(ﬁxl;)ziazbc
4

168 =%abc(a+b+c)

So, (a+b+c)=16

(@xb)-5=0
=13-1-44=0=>1=3
=b= 1+j+3l€:axl; 13i — j - 4k

(axb)xb (137 - 7 -4k)x z+J eom

21b-1la=1 Q’
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Now (b =a)-(- ]

c=5=2c,+c,+3¢c; =5 (1)

a
b-c=0=3c+3c,+c,=0 ..(2)

¢ C G
And[a‘l?E]:O:z 1 3|=0

33 1
=8¢ —-7¢,-3¢,=0  ..(3)

By solving (1),(2),(3) we get
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|@+b|=3.Ja+b] 3 gh=t
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